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2019 (A)
- SSC PART-ll (10th CLASS)
BIOLOGY (NEW SCHEME) GROUP-l  ( 2015-2017% )

TIME ALLOWED. 1.45 Hours SUBJECTIVE _Eie

MAXIMUM MARKS: 48 48 = AF
NOTE: - Write same question number .q.bmﬁ;.{.élrﬁé': bﬂﬁ}izm/?dlra:{Ql’Qu s
and its part number on answer book, as given in the question paper.
SECTION-l (JsLe

2. Attempt any five parts. 10=2x5 & fezlngha S 240y
()  Whatis Double Pneumonia? Write reason. ok VAN ()
(i} Write symptoms of Bronchitis. By ST e TR ()
(i)  Whatis Arterioscierosis? Describe briefly. LA e Syl (i
(iv)  What s the difference between Transpiration and Guttation? rq.J)guw’!,'»w’-’;w (iv)
(v)  Write two benefits of Homeostasis Ll e W)
(vi)  Define Coordination with example. e Jea AL )
(vii) Write the functions of Rods and Cones. S AL i (i)
(viil) Write the names of four parts of Eye. Lo LT (i)
3. Attempt any five parts. 10=2x5 & el 3 0
(il  Differentiate between Exoskeleton and Endoskeleton, L IR K ol \-ﬁ"l’ i i)
(i)  Wnat are Hinge joints? Give an example. 0% Sdedi A E
(i)  How does yeast reproduce asexually? Ob ) tet/thpdidde B Mbctas (i)
(v) What is Parthenogenesis? /\9 . e FE W)
(v} How does double fertilization occur? “ (o) e dnplhd FiAks W)
(i) Differentiate between Homozygous genotype .g{uﬁ,'g.('wachw e .‘;e;.’-.,rg':m (wi)
and Heterozygous genotype. O/
(vil)  State Law of Independent Assariment. (/ gk MIT  (vi)
(vii) Differentiate batween Co-dominance and incompiste Dominance. £ty S o LS (i)
4. Attempt any five parts. 10=2x5 Lzt a4ty
()  Define Ecosystem g W
(i)  Define Biogeochemical Cycle LK
(i)  Differentiate between Population and Community, ey ugj,&t{f}!:ﬂﬁgg (iii)
(iv) Define Genetic Engineering. -40_&/‘76.:’ FREr  (iv)
(v)  Define Fermentation. - J Al u’-'b/ (v)
(vi) Whatis meant by Pharmaceutical Drug? el Sifris W)
(vii) Name any four sources of Medicinal drugs. - ERLEup L lein (i
(viil) Write down the role of "Joseph Lister”, L NN " P (i)
SECTIONAI 1.0
NOTE: - Attempt any two questions. 18=9x2 -gf{fapzﬁauln:g‘}/ Y
5.(A) Write note on Kidney Transplant 4 g (s
() Explain Spinal Cord with the help of diagram 5 eSS (&)

6.A) Whatis meant by Cartilage? Explain its three types. 4 gelfrUidln e e pls s (N6
(B) Explain Male Reproductive System of Rabbit with label diagram. § -/ St Hivg JE S/ WAE (L)

7.(A) Describe the stages of Nitrogen Cycle. 4 LSl Fghf (T
(8) Explain the basic steps of Genetic Engineering. 5 Lol L% (L)
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PAPER CODE 2019 (A) TN .

NUMBER: 3461 SSC PART-Il (10th CLASS) ( %/‘

BIOLOGY (NEW SCHEME) GROUP-l  (2015-2017 &% ) i - .,J)/( A 2 B

L

TIME ALLOWED: 15 Minutes OBJECTIVE u":/’.ﬁ <15 = =

MAXIMUM MARKS: 12 12= AF
f i\ IS L rene S u;ﬂ:é{.:&v&d'r/r@éb’dw SLEIDACBA _-.}‘i..'fxyﬁdm 0T

(3¢ -thgpgﬁ)f,}éﬂﬁ&JﬂfLﬁz )(J:}b -fm’jﬂ*&uﬂgﬂc_»ﬂ;w Jo¥ ! Lf.éfuu’!.-uy.:..g &

Note: you have four choices for each objective type question as A, B, C and D. The choice ..,(L'J’?:u. iy

which you think is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as

many questions as given in objective type question paper and leave others blank. No credit will be awarded

in case BUBBLES are not filled, Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A A

(1) Larynx is a box which made up of:- _z‘-..rxuc‘-v/;.._ﬂﬂ (1)
(A) Bone (4 (B) Cartilage ¢ (C) Blood cells %24 (D) Muscles

(2) Latexis secreted by:- el % @

{A) Rubber plant ¢..-g[.zz (C) Keeker f (C) Ladyfinger J. 74 (D) Brassica v~

(3) Temporal lobes Is concerned with - Q =78 e P¥ st (3)
(A) Visaul information J""’;'df » (B) Hearing and sQ{n/rfmm; (C)Fear Ji# (D) Taste o5

(4) Insuline and Glocagon are made by.- &/ ) Lyl 7 A (4
(A) Pancreas 5/5- (B) Liver pe (C) Hypothala{@jﬂ.zf ! (D) Adrenal gland $X A

{5) The bone in which blood vessels are found:- ‘ @ .9,33365 /’&dex} (5)

(A) Compact bone _‘_gf (B) Spongy bone um}t %

(C) Bone marrow w’(d p (D) None of these qu"ér’;‘xul /O/f-

(6) Process of vegetative propagation In onion Is carried out by:- T S J’rﬁge‘d-,u:;g (6)
(A) Corm 4/ (B) Rhizome pidl.  (C) Bulb o4 (D) Stem tuber 54"

(7) Reproductive part of plant is:- eV haley (T
(A) Stem © (B) Leave (C) Root Z (D) Flower %

(8) Albinism is & trait.- e AfieH (8

(A) Co-dominant w45/ (B) Recessive .#* (C) Dominant /¢ (D) Incomplete dominant w43 J’t

(9) Number of Nitrogen bases in D.N.A. is:- e WS AGAL eSS (9)
(A) Four . (B) Three £ (C)Two = (0) Five &4
(10) break down complex organic compound. al/s WIS rdvtas  (10)

(A) Consumers ;/(?( (B) Producers Jj#¢hy  (C) Decomposers Jlir,‘:ji (D) All PV

(11) is an antiviral protein. -« u)é:;d?"t;';'-g' = 1)

(A) Urokinase Z¥g (B} Interferon ch2¥  (C) Thymosin w3 (D) Insuline o2

(12) Digitalis stimulate the organ:- 37 S JEL (12)
(A) Brain {As (B) Heart (C) Kidney <3/ (D) Lungs < 5%
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TIME ALLOWED: 1.45 Hours SUBJECTIVE _U¥L» Z145 = =
MAXIMUM MARKS: 48 48 = A¥

NOTE: - Write same question number .4.@14,#9.{4'&62# (w/?yz»l/JWng’Qm -y
and its part number on answer book, as given in the question paper.

SECTIONA (JiLe

2. Attempt any five parts. 10=2x5 .é{]...&&ﬁ'?lékc.ojf 240
()  What do you know about Nicotine? L AL Al EE ()
(i)  How you will differentiate between Stomata and Lenticels? Ly LI - 2K 0]
(i)  Whatis Asthma? Write its treatment, LN et (i)
(iv)  What is the role of skin in controlling the body temperature? te QS /YL L Sh P irakt e (W)
(v}  Write down two adaptations in xerophytes to prevent loss of water .4‘{:"1&::{.&2 e y&@lg VCJ"'M; (v)
(vi)  Differentiate between Stimuli and Response. LAL ,/"u_. Al i)
(vii) What role does Medulla oblonigat a play? et /e ming (v
{vi) Write down the symptoms and treatmen! of Diabetes meliitus. -q/:f/t, Wl twf./‘u 245 (vil)
3. Attempt any five parts. 10=2x5 e lingia 8 340
{)  Wrte two funtions of Joints, Q Al P ()
()  Write two causes of Osteoporosis, % J;med'fugr'ﬂv (i)
(i)  Whatis meant by Parthenogenesis? b teapde FRE (i)
(ivi  What are two advantages of Vegetative Propagation? \9/ e Sind J“"’:{z&" (iv)
(v}  What does develop from radicle and plumule of seed? O/) te e Jed L LE (W)
(vi) What are Nuciecsomes? ‘Q i (i)
(vi)  Differentiate between Dominant allele and Recaessive allele. % -ﬁ{ JALK r:‘-m'Jf'.»w (vil)
(vel)  Wnite two main sources of Variations }0 -Jdui..z»&.-.',é" (i)
4. Attempt any five parts. 10=2x5 -é(f..wﬁwégc_éf 420
(i)  Write down any four effects of Deforestation. 46 l/laydi’a (¥ ol s ()]
(ity  Define the term Predation. Write down its one benefit 5 19 S .Q/UJ‘JE{ 0]
(i) What is meant by Biogeochemical cycies? te o v deéy Gl
{iv)  What is Fermenter? Write down the names of two ways -4‘}!.‘.’.\;}.')::&\-,’-‘*7' B35 S o B ()
of fermentation carried out in fermenters,
(v)  Write down any two cbjectives of Genetic Engineering. U - 1 S
(vi)  What is meant by Bactericidal and Bacteriostatic antibiotics? e IV SRRy IS ()
(vij) Define Vaccines LAl iy
(viil) What is Marijuana({Hashish)? Write its one bad effect. .¢a}u£.._ﬁ e ftRge  (vil)
SECTION-II (22
NOTE: - Attempt any two questions. 18=9x2 .;{{/Lwﬁumma,éf ROY

5.(A) Write a note on structure and function of Nephran El £ xf.,:btg,;l.., m..wd'u» £ (G5
(B) Write 3 detailed note on Paralysis and Epilepsy. 5 .4"..!&’-‘1;.;,-»::'&/ ()
6(A) Define Cartilage and briefly describe its types. 4 EdAIS gL ATEX (U8
(B) Explain in detail the cutting in plents. 5 Eee ST 2oy ()
7.(A) Describe acid rain with its two bad effects. 4 Laide inl g S IAdE (SN).7
(B) Write 2 detailed note on Single Cell Protein. 5 B 1N S ()
28-2019(A)-29000 (MULTAN)
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BIOLOGY (NEW SCHEME) GROUP-Il  ( 2015-2017 ¢/F ) 1= oo/ (& £) G941
TIME ALLOWED: 15 Minutes OBJECTIVE U:’,/‘.# w15 =
MAXIMUM MARKS: 12 12= AF

A \ A3 Q0L terne o L ez L iy Q6317 - LEs D 4 C B A bl vy -2
{24 Kl L eSSl Sty SnaP rads Rz SLSE JK | LS ifnsmmlie L -
Note: you have four cholces for each objective type question as A, B, C and D. The choice -g{)::\f'//:.-— tly
which you think is correct, fill that bubble In front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) ____ blood vessels surrounds the Alveol: Bzt oS M
(A) Antery AT (B) Arteriol Js4T  (C) Capillaries 747 (D) Vein o

{2) The weight of human kidney is nearly _____ grams. et oS0 @
(A) 110 (B) 115 (C) 120 (D) 127

{3) The largest part of Human brain is- .g./'z;..,fb"f,b&uw (3)

@O,
(A) Forebrain Q.u} (B) Midbrain ¢4 (C)%b@in 4% (D)Medulia vsis
7
\9/

(4) Osteoporosis is a disease of:- . ety (4)
(A)Bones Jugi () Heart Uy © smmg/a (0) Brain L

(5} The myelin sheath i formed by - ‘ GO/ i SA )

(A) Dendrites .43 (B)Axons 5051 (C) Nodes of Ranvier f ST _(D) Schwann Cell JFgts

(8) The scar present on Seed Coat is called:- e titireede  (6)
(A) Micropile Ji+.£1  (B) Integument e &0 (C) Hilum 84 (D) Ovule Jyss

(7) Rhizopus reproduce asexually by - -q-c}:fc, A gsd. @
(A) Binary fission ¢*57| (B) Budding £+  (C) Spore —.x (D) Endospore =23

(8) The scientist presented the Law of Segregation. -vLBw’-"f_ﬁ.uL SN, (8)
(A) Mendel (i (B) Newton /< (C) Lamark 44 (D) De Devi ($34S:

(9) Theory of Natural Selection was presented by - MBL _ Aaeds ()
(A) Aristotle &4 (8) Lamark JAY (C) Darwin st (D) Malthus x‘i

(10) is the Abiotic component of Ecosystem P U gut("i o (10)
(A) Plants <y (B) Animals 9 (C) Decomposers 253 (D) Water

(11) The complete map of Human genocme was published in:- .md'm e M:! S (1)
(A) + 2002 (B) » 2004 (C) » 2006 (D} » 2008

(12) Mescaline is cbtained from a plant- et Py filAs  (12)
(A) Datura L} (B) Cannabis /0f  (C) Morming glory Sk (0) Cactus ¥
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